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[ 1] Au S @Q Na OFp,ON a
Vioy | Vo v N V| Vicoy VioVes Rz

M) (V) m | ml ml| ml mi/ )
H>S0O4 0.6p 4 7 0 4 . . 0
H2S0O4 0.6p 8 2 4 . . 0
H>SO4 0.6p 1 1 13 7| 4 3.6 1.0
H2S0O4 0.3 4 47 7.0 3. 1. 0
H2SO4 0.3 8 0 8 . 4.0 1/0
H2SO4 0.3 1 1 44 8| 3 4 .11 1.0
H2SO4 0.1 4 24 8 1 3.
H2SO4 0.1 8 8 5|7 14 1.
H2SO4 0.1 1 4 44 9| 1.
NaOH 0.6p 4 17 20 4| 1.
NaOH 0.5b 8 4 214 7.1 3. 1. 0
NaOH 0.5b 1 3 20 10. 4 5.2 . 0
NaOH 0.3 4 56 A 2 . 1. 0
NaOH 0.8 8 1(0 6 . 3. 1. 0
NaOH 0.3 1 4 24 7| 1.
NaOH 0.1 8 23 20 7| 1.
NaOH 0.1 1 10 36 7.0 3.3 1.0
NapSO4 0.5 4 19 50 31 7 1.7 1.0
NapSO4 0.6p 8 4 2 6 . 3.1 10
NapSO4 0.6p 1 1 21 2. 1.
NapSO4 0. 4 4 15 25 1.
NapSO4 0. 4 8 2 56 4.2 2. 1. 0
NapSO4 0. 4 1 1 32 .3 A 1.
NapSO4 0.3 4 4 4 40 5| A 1.
NapSO4 0.3 8 3 6 . 3.3 1/0
NapSO4 0.3 1 3 4 3 8| 5 4 . 2 1.0
NapSO4 0. PR 8 7 13 6.3 3. 1. 0
NapSO4 0. PR 1 4 2 1.
N&xSO4 0.1 8 13 1 1.
N&axSO4 0.1 1 4 2 1.




[ 2] (12%@ Na
VOIYO Iy p [V | Ve |y | B
M) | (V) m | ml mi ml (mi/ )
Na2sO4 | 0. I 1 | 0 27 |so 27.9 10 d. 74
Na2sO4 | 0. P 1p ) 14 |19 2.5 80 d.609
Na2so4 | 0. B 1P ) © [3 19.6|3.80 0.69
Na2so4 | 0. 4 1P ) 6 8 16.4|3.40 0.68
Na2so4 | 0. 5 1P ) 7 o 20d.3|4.40 o0.l67
[ 3] (0. 59 Na
I YOO y v | Yy, |
m | ml mil mi (ml/ )
N&SO, | 05 2|24|20[ 252 290| 071 |207| 083 | 1217 | 017
N&SO, | 05 0ls16|341|660| 072 |475| 185 | 718 | o083
N&SO, | 05 017| 7| 249|490]| 071 |348] 142 | 716 | 145
N&SO, | 05 10 |o0|6|38/139]300| 066 198 102 | 702 | 210
N&SO, | 05 12 |0|7]0|203]440| 067 295 145 | 680 |29
[ 4] (4V,12V)  NaOH
I VOIYO Iy |V [ Ve |,y | Ree
ml | mi mi| mi (ml/ )
NaOH | 0.1 4 |1]32]11]102]280]| 100 |280] 000 | 364 |01
NaOH | 0.2 4 |ol|33]33]| 75270 100 |270| 000 | 278 |o022
NaOH | 03 4 |ol26]21| 89 [320| 100 |320] 000 | 278 | o034
NaOH | 05 4 |ol|u|20] 63 ]210] 100 |210] 000 | 300 | o056
NaOH | 0.7 4 |o|15/54] 91 |300| 100 |300| 000 | 303 |o057
NaOH | 1 4 |ol|el|s1] 57 |210] 100 [210] 000 | 271 |o083
NaOH | 0.1 12 |o0/|21/35/260|220] 1200 |220] 000 | 1182 | 120
NaOH | 0.2 12 |o|6|29/126|120] 100 |120| 000 | 1050 | 194
NaOH | 05 12 |o|5|20/221|190| 100 |190| 000 | 1163 |4.14
NaOH | 07 12 |o|3|s2|258|210] 100 |210] 000 | 1229 | 667
NaOH | 1 12 |o0|3|2s|283|210] 100 |210| 000 | 1348 |828




[ 5] : (0.5M, 0. 2M) Na OH

Vo Vol v |V | Ve ViV o Riz
(M) V) m | ml ml| ml ml/ )
NaOH 0.5 4 ( 11 50 8. 3 3./50 1. OO0
NaOH 0.5 4 .15 0 6 28 |5. [ 2. 30 1. 0|0
NaOH 0.5 ( 17 47 11. 4 1120 1. 010
NaOH 0.5 ( 14 9 1. 3 1./60 1. OO0
NaOH 0.5 6.5 0 16 25| 22|. 7 2.00 1./00
NaOH 0.5 7 C 13 15 23. 83 1190 1. 010
NaOH 0.5 8 11 0 2pB.0 2./00 1. OO0
NaOH 0.5 17 0 5 20 22.1 1190 1. 010
NaOH 0. 2 4 C 33 33 7.5 2.170 1. OO0
NaOH 0. 2 5 C 29 39 9.4 1./30 1. OO0
NaOH 0. 2 6 ( 28 18 15. 56 1170 1. 010
NaOH 0. 2 8 ( 17 10 16. | 1170 1. 010
NaOH 0. 2 10 10 46 [(16.3 1. 50 1.00
NaOH 0. 2 172 6 29 12. 6 1120 1. 010
[ 6] : ( 8dySp,
™| W) YOTYO Iy |V Ve | B
mi mi mi mi (ml/ )
H,SO, 0.1 8 0|16(45| 245|320 074 | 235| 0.85 1042 | 1.46
H,SO, 0.2 8 011525539 | 075 | 293 | 0.98 872 | 230
H,SO, 0.3 8 0 161 243|390 | 072 | 281 | 1.09 865 | 334
H,SO, 0.4 8 0| 6|53]26.7|450| 067 |302| 149 886 | 3.88
H,SO, 0.5 8 01437241440 | 072 |317| 123 761 | 522




[ 7] ( 0 .HEBL)
V \/ \Y V R
(M) V) ) v v (€02 Vho/Vor "
mi mi mil mi (ml/ )
H>SO4 0.5 01(34|47| 257|380 | 083 | 314 | 0.67 820 | 0.74
H.SO4 0.5 0642174280 | 076 | 213 | 0.67 8.18 | 2.60
H.SO4 0.5 01437241440 | 072 | 317 | 123 761 | 5.22
H.SO4 0.5 10 0(2|51]210|470| 067 |315| 155 6.67 | 7.37
H.SO4 0.5 12 02|51 250|580| 065 |377| 203 6.63 | 8.77
[ 8] H,S0,  (0.5M,8V)
V VvV \Y V R
() () vV N (CO2) ViV op H2
cm mi ml mi ml (ml7)
H,SO, 0.5 37| 24.1 | 4.40 0.72 3.17 1.23 7.61 522
H,SO, 2265|550 | 070 | 38| 1.65 6.88 5.26
H,SO, 2 59| 224 | 490 0.68 3.33 157 6.72 5.62
[ 9] (8V, 0.5M) NaOH
V \/ \ V R
OO v CB WalVoo| 2
V) mi mi m| mi (ml/ )
Au 8 04124 71 35 1.00 | 3.50 0.00 203 | 161
glass carbon 8 0[13/24| 163 | 1.10 1.00 1.10 0.00 14.82 | 1.22
8 0|11] 0| 26.0 | 2.00 1.00 | 2.00 0.00 13.00 | 2.36
8 0(11(31| 175 | 140 1.00 1.40 0.00 1250 | 1.52
8 0|45 68 3.1 1.00 | 3.10 0.00 219 | 1.67
[ 10] :
Vv Vv \ V R
() () vV NV (CO2) ViV H2
M) | (V) ml ml mi ml (mi/ )
NaOH 0.5 24| 7.1 35 1.00 3.50 0.00 2.03 161
NaSO, 0.5 11| 3.0 | 1.10 1.00 1.10 0.00 2.73 0.94
H.SO, 0.5 40 6.7 | 190 | 1.00 | 1.90 | 0.00 353 | 4.02
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